‘ '|Il|llI|| I Hli I
L T

x 0.02 ——— e —
2 ’ : E
®.018i1 -
B.016[ii4-- i
S .
(] .
®.014H11 . e
£ : :
D.012[H(i 4 - L i
0.0 4 -k
0.008[H{lt41- { NN S
0.006H(I-H-- 5 L
0.004 i 44 fMETIAE 11
o.002f{lf:H 1t pNEL T
o +WB) ; Ll it
% —_— mKFET_So
o — m Flzgg; NN
i —— SO arDNN25
0.95 LB I|||I I i
1
TP min AR

éaﬁaﬁ““
[l
il
10° 102 10"

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95
—1

1072

=
S
w

1
AR(TP, jet)

Efficiency vs pu

= 0.01
o

9.009
3.008
(]

©®.007
=

%.006
0.005
0.004

2 4 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


